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CHAPTER 15

QUESTIONS

1.
The principal advantages to a lessee in leasing rather than purchasing property are as follows:


(a)
Frequently, no down payment is required to attain access to property when it is leased. This frees company capital to be used for purposes such as expanding production, reducing long-term debt, or providing for future pension benefits.


(b)
A lease avoids the risks of ownership when a company has many uncertainties as to the length of benefit from various assets. If a company purchases assets, any obsolescence or reduction in usefulness of the asset would result in a loss. A lease leaves these risks of ownership with the lessor rather than shifting them to the lessee.


(c)
Leases give the lessee flexibility to get a different asset if market conditions or technological changes require it.

2.
The principal advantages to a lessor in leasing property rather than selling it are as follows:


(a)
Lease contracts provide another alternative to those businesses needing property for customers to acquire their services. This can increase the volume of sales and thus improve the operating position of the manufacturer.


(b)
Because a lease arrangement results in an ongoing business relationship, there may be other business dealings that could develop between the lessee and lessor.


(c)
The lease arrangement may be negotiated so that any residual value remains with the lessor. Although expected residual values are usually considered in arriving at the financial terms of a lease, these estimates usually are conservative. Thus, lessors may benefit from a higher residual value at the end of the lease term than expected when the lease was negotiated.


10.
If rental payments are uneven, the debit to Rental Expense by the lessee should be made on a straight-line basis (i.e., total 
expense over the lease term should be 
allocated equally to each period) unless another systematic and rational basis better shows the time pattern in which use benefit is derived from the leased asset.

Note: For all PRACTICE EXERCISES involving lessor journal entries, the solutions illustrate both the gross and the net presentations of lease payments receivable. For the Exercises and the Problems, only the net presentation (as shown in the textbook chapter) are illustrated. 

PRACTICE EXERCISES

PRACTICE 15–1
PRESENT VALUE OF MINIMUM PAYMENTS

Business calculator keystrokes:

N = 2 years ( 12 = 24

I = 12/12 = 1.0

PMT = $1,000

FV = $10,000 (guaranteed residual value at the end of 24 months)

PV = $29,119

PROBLEMS

15–46.

1.
2005

July
1
Leased Equipment

540,720*

Obligations under Capital Leases 


540,720

To record lease.

*PV =
$80,000 + $80,000(PVAF
[image: image1.wmf]9

10%

)

PV =
$80,000 + $80,000(5.7590)

PV =
$540,720


or with a business calculator:



First toggle so that the payments are assumed



to occur at the beginning (BEG) of the period.



PMT = $80,000; N = 10; I = 10% ( PV = $540,722


1
Lease Expense

3,000



Obligations under Capital Leases

80,000

Cash



83,000

To record first lease payment.

Dec. 
31
Interest Expense

23,036*

Interest Payable on Obligations under

Capital Leases


23,036

*Interest expense: ($540,720 – $80,000) ( 0.10 ( 6/12 = $23,036


31
Amortization Expense on Leased Equipment

18,024*

Accumulated Amortization on

Leased Equipment


18,024

*Amortization expense: $540,720/15 = $36,048 ( 6/12 = $18,024


31
Prepaid Lease Expense ($3,000 ( 6/12)

1,500

Lease Expense


1,500

2.
The lease meets the 90% of fair value criterion.
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[image: image3.wmf]$595,000

$540,720

 = 90.88%; therefore, the condition is met.


Because the lease qualifies under the 90% of fair value criterion and it does not meet the other 3 criteria, the amortization period should be the life of the lease, or 10 years. Amortization for the period: $540,720/10 = $54,072; $54,072 ( 6/12 = $27,036.

15–47.

1.
Calderwood Books:

2005

Jan.
1
Deferred Initial Direct Costs

15,000

Cash

15,000

To record initial direct costs.


1
Cash


465,000*

Rent Revenue

375,000†
Unearned Rent Revenue

90,000

To record receipt of first annual rental payment.

*($1,800,000 ( 0.25) + $15,000 = $465,000

†($1,800,000/5) + $15,000 = $375,000

(Note:
The $15,000 received by Calderwood to reimburse 

executory costs is included as part of revenue. It could

also have been recorded as a reduction in executory 

costs.)

Dec.
31
Amortization of Initial Direct Costs

3,000

Deferred Initial Direct Costs

3,000

To amortize initial direct costs over 5 years.


31
Depreciation Expense on Leased Equipment

200,000*

Accumulated Depreciation on Leased

Equipment

200,000

To depreciate leased equipment.

*($2,100,000 – $100,000)/10 = $200,000

2009

Jan.
1
Cash


267,000*



Unearned Rent Revenue


108,000

Rent Revenue

375,000†
To record receipt of final annual rental payment.

*($1,800,000 ( 0.14) + $15,000 = $267,000

†See Jan. 1, 2005

Dec.
31
Amortization of Initial Direct Costs

3,000

Deferred Initial Direct Costs

3,000

To amortize initial direct costs.


31
Depreciation Expense on Leased Equipment

200,000

Accumulated Depreciation on Leased

Equipment

200,000

To depreciate leased equipment.

15–47.
(Concluded)

2.
Youngstown Books:

2005

Jan.
1
Rent Expense


375,000



Prepaid Rent


90,000

Cash


465,000

To record first rental payment including 

executory costs.

2009

Jan.
1
Rent Expense


375,000

Prepaid Rent

108,000

Cash


267,000*

To record final rent payment.

*See (1).

15–50.

1.
Trost Leasing books:

2004

Oct.
1
Lease Payments Receivable

196,110

Equipment Purchased for Leasing

196,110


To record lease contract.


1
Cash


33,000

Lease Payments Receivable

30,000

Executory Costs

3,000


To record receipt of first lease payment.

Shumway Shoe books:

2004

Oct.
1
Leased Equipment under Capital Leases

196,110*

Obligations under Capital Leases

196,110


To record lease contract.


*Present value of lease at 10%:



PVn
=
$30,000 + $30,000(PVAF
[image: image4.wmf]9

10%

)



PVn
=
$30,000 + $30,000(5.7590)



PVn
=
$202,770


or with a business calculator:



First toggle so that the payments are assumed



to occur at the beginning (BEG) of the period.



PMT = $30,000; N = 10; I = 10% ( PV = $202,771




This is greater than the fair market value of $196,110, so the lower value is used.

15–50.
(Continued)

Oct.
1
Lease Expense


3,000



Obligations under Capital Leases

30,000

Cash

33,000

To record first lease payment.

2.
Computation of implicit interest rate of lessor:



$196,110
=
 $30,000 + $30,000(PVAF
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i

)





    $196,110 – $30,000



PVAF
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i


=




PVAF
[image: image7.wmf]9
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=
 5.5370



i
=
 11%


or with a business calculator:



First toggle so that the payments are assumed



to occur at the beginning (BEG) of the period.



PV = ($196,110); N = 10; PMT = $30,000 ( I = 11.00%

3.
Trost Leasing books:

2005

Sept. 
30
Cash

33,000

Interest Revenue

18,272*

Lease Payments Receivable

11,728

Deferred Executory Costs.

3,000

To record receipt of second lease payment.

*$196,110 – $30,000 = $166,110

$166,110 ( 0.11 = $18,272

2006

Sept.
 30
Cash

33,000

Interest Revenue

16,982*

Lease Payments Receivable

13,018

Executory Costs

3,000

To record receipt of third lease payment. (No

adjustment necessary to Deferred Executory 

Costs.)

*$166,110 – $30,000 + $18,272 = $154,382

$154,382 ( 0.11 = $16,982

15–50.    
(Continued)

2007


Sept. 30
Cash

33,000

Interest Revenue

15,550*

Lease Payments Receivable

14,450

Executory Costs

3,000


To record receipt of fourth lease payment.

*$154,382 – $30,000 + $16,982 = $141,364

$141,364 ( 0.11 = $15,550

Shumway Shoe Books:

2005

Sept.
 30
Prepaid Lease Expense

3,000



Obligations under Capital Leases

11,728



Interest Expense

18,272*

Cash

33,000

To record second lease payment.

*Interest expense:
$196,110 – $30,000 = $166,110

$166,110 ( 0.11 = $18,272

The discount rate implicit in the lease is used, even though

Shumway’s incremental borrowing rate is lower. This is so

because fair value is less than the present value of minimum 

lease payments using the incremental borrowing rate.


30
Amortization Expense on Leased Equipment

19,611*

Accumulated Amortization on Leased

Equipment

19,611

To record first year’s amortization.

*Amortization: $196,110/10 = $19,611

2006

Sept.
 30
Lease Expense

3,000



Obligations under Capital Leases

13,018



Interest Expense

16,982*

Cash

33,000

To record third lease payment. (No adjustment

necessary to Prepaid Lease Expense.)

*Interest expense:
$166,110 – $11,728 = $154,382

$154,382 ( 0.11 = $16,982


30
Amortization Expense on Leased Equipment

19,611

Accumulated Amortization of Leased

Equipment

19,611

To record second year’s amortization.

15–50.    
(Concluded)

2007

Sept.
 30
Lease Expense

3,000



Obligations under Capital Leases

14,450



Interest Expense

15,550*

Cash

33,000

To record fourth lease payment.


*Interest expense:
$154,382 – $13,018 = $141,364

$141,364 ( 0.11 = $15,550


30
Amortization Expense on Leased Equipment

19,611

Accumulated Amortization of Leased

Equipment

19,611

To record third year’s amortization.

15–51.

1.
Computation of annual lease payment:

Cost of leased system: $550,000

Present value of estimated residual value:

PV = $40,000(PVF
[image: image8.wmf]8

12%

)

PV = $40,000(0.4039)

PV = $16,156

Net investment to be recovered:

$550,000 – $16,156 = $533,844

Annual lease payment:

$533,844
= R + R(PVAF
[image: image9.wmf]7

12%

)

$533,844
= R + R(4.5638)
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= R


$95,950
= R


or with a business calculator:



Make sure to toggle so that the payments are assumed



to occur at the end (END) of the period.



FV = $40,000; N = 8; I = 12% ( PV = $16,155

Payments must make up the remainder of the present value:


$550,000 – $16,155 = $533,845



Toggle so that the payments are assumed



to occur at the beginning (BEG) of the period.



PV = $533,845; N = 8; I = 12% ( PMT = $95,950

15–51.
(Concluded)

2.
Computation of lease payments receivable:

Lease payments receivable:

Annual rental

$
95,950

Total periods


( 8
Lease payments receivable


$767,600

Residual value—gross


40,000

Gross lease payments receivable


$807,600

Less: Adjustment for present value


257,600
Net lease payments receivable


$550,000
3.
Computation of total lease expense for December 31, 2006:

Depreciation expense for year:

$533,844/8 periods = $66,731

Interest:

($533,844 – $95,950) ( 0.12 = $52,547

Total lease expense:

$66,731 + $52,547 = $119,278
(Note:
 The residual value is not guaranteed, so it is not included in the computation of the lessee’s present value of minimum lease payments.)

15–52.

1.
Computation of financial revenue:

Minimum lease payments ($225,000 ( 20)


$
4,500,000

Fair market value of ferry


2,107,102
Financial revenue

$
2,392,898
Manufacturer’s profit:

Fair market value of ferry

$
2,107,102

Cost of the ferry


1,500,000
Manufacturer’s profit

$
607,102
(Note: 
Because lessee retains any residual value, no adjustment for residual value is required on lessor’s books.)

2.
2005

Apr.
1
Lease Payments Receivable


2,107,102

Sales

2,107,102



Cost of Goods Sold


1,500,000

Inventory

1,500,000

To record lease.

15–52.
(Continued)

Computation of implicit rate of interest:


$2,107,102
=
$225,000 + $225,000(PVAF
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i

)


PVAF
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=
8.3649



i
=
10%


or with a business calculator:



First toggle so that the payments are assumed



to occur at the beginning (BEG) of the period.



PV = ($2,107,102); N = 20; PMT = 225,000 ( I = 10.00%

3.
2005

Apr.
1
Cash

225,000

Lease Payments Receivable

225,000

To record receipt of first lease payment.

Dec.
31
Lease Payments Receivable

141,158*

Interest Revenue

141,158

To record interest revenue for 9 months.


2006

Apr.
1
Cash

225,000

Interest Revenue


47,053†
Lease Payments Receivable

177,947

To record receipt of second lease payment 

and interest revenue for 3 months.

Dec.
31
Lease Payments Receivable

138,398‡
Interest Revenue

138,398

To record interest revenue for 9 months.

2007

Apr.
1
Cash

225,000

Interest Revenue

46,133§
Lease Payments Receivable

178,867

To record receipt of third lease payment and 

interest revenue for 3 months.

Dec.
31
Lease Payments Receivable

135,363#
Interest Revenue

135,363

To record interest revenue for 9 months.

15–52.
(Concluded)

COMPUTATIONS:







2005


2006


2007

January 1 to March 31:

Net lease receivable prior to April 1

$
1,882,102
$
1,845,313

Interest rate







( 10%
( 10%

Portion of year

  
( 0.25

( 0.25
Earned interest 3 months

$
47,053†

$
46,133§
April 1 to December 31:

Net lease receivable prior to April 1

$
1,882,102
$
1,882,102
$
1,845,313

Interest—9 months




141,158

138,398

Interest—3 months




47,053

46,133

Lease payment




(225,000)

(225,000)

Net lease receivable April 1

$
1,882,102
$
1,845,313
$
1,804,844

Interest rate


( 10%

( 10%

( 10%

Portion of year


( 0.75

( 0.75

(  075

Earned interest 9 months

$  
141,158*
$
138,398‡
$
135,363#
4.








Lease










Payments









Receivable

Initial entry

$
2,107,102


2005


(225,000)




141,158


2006


(177,947)





138,398


2007


(178,867)





135,363


Balance at year-end

$
1,940,207

EXERCISE 15–42.


1.


Acme Enterprises



Schedule of Lease Payments



(5-year lease)








Lease



Date


Description

Amount
Principal
Interest
Obligation

1/01/05
Initial balance



$80,746*


1/01/05
Payment
$20,000
$20,000

60,746


12/31/05
Payment
20,000
12,710
$7,290
48,036


12/31/06
Payment
20,000
14,236
5,764
33,800


12/31/07
Payment
20,000
15,944
4,056
17,856


12/31/08
Payment
20,000
17,856
2,144†
0



*PVn
=
$20,000 + $20,000(PVAF
[image: image15.wmf]4

12%

)





=
$20,000 + $20,000(3.0373)





=
$80,746


or with a business calculator:



First toggle so that the payments are assumed



to occur at the beginning (BEG) of the period.



PMT = $20,000; N = 5; I = 12% ( PV = $80,747


†Rounded.

15–42.
 (Concluded)

2.


Acme Enterprises



Lease Amortization Schedule




Date

Amortization Factor
Amortization
Book Value


Jan. 1, 2005


$80,746


Dec. 31, 2005
5/15
$26,915
53,831


Dec. 31, 2006
4/15
21,532
32,299


Dec. 31, 2007
3/15
16,149
16,150


Dec. 31, 2008
2/15
10,766
5,384


Dec. 31, 2009
1/15
5,384*
0


*Rounded.

3.



Book Value of
Book Value of




Date

Leased Asset
Lease Obligation

Jan. 1, 2005
$80,746
$60,746


Dec. 31, 2005
53,831
48,036


Dec. 31, 2006
32,299
33,800


Dec. 31, 2007
16,150
17,856


Dec. 31, 2008
5,384
0


Dec. 31, 2009
0
0



Note that in the first 2 years of the lease, the book value of the leased asset exceeds the book value of the lease obligation. The amounts for the leased asset and the lease obligation differ because of the differing assumptions used in computing the two amounts. The lease obligation is being amortized using the effective-interest method with interest being paid for only 4 years, while the asset is being amortized using the sum-of-the-years’-digits method over a 5-year life.

Problem 15–59.

As of December 31, 2005, Jaquar Mining and Manufacturing Company had the following obligations under leases:


Future minimum rental payments:
$
426,500*

Rental payments:
2006

$
60,500†
2007

60,500

2008

60,500

2009

42,500†

2010

42,500†
Thereafter

160,000

The company had no subleases outstanding as of December 31, 2005. The rental       expense for the period ended December 31, 2005, was $60,500. There were no restrictions of any kind imposed on the Company by the terms of the leases.

15–59.
(Concluded)
COMPUTATIONS:

*Machine 1 lease: $18,000 ( 3 payments remaining

$
54,000

Machine 2 lease: $30,000 ( 7 payments remaining


210,000

Machine 3 lease: $12,500 ( 13 payments remaining


162,500
Future minimum rental payments


$426,500

†Yearly rental payments:

2006, 2007, 2008: $18,000 + $30,000 + $12,500

$
60,500

2009, 2010: $30,000 + $12,500


42,500

$30,000
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